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T(s) =14.22 £ 0.12
k =7.12e+6 + 5.82e+4
14946 entries (36 %)
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T(s) =12.65 + 0.11
k = 7.90e-2 + 6.64e-4
14157 entries (34 %)
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T(s) =11.24 £ 0.19
k = 8.89e-2 + 1.50e-3
3517 entries (8.5 %)
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T(s) =4.35+249

] k =2.10e+9 + 1.20e+9
i 3 entries (0.0072 %)
i
1
1

\

\

\h

0 100200300400500600
Dwell time (frame)

Probability Density

Probability Density

0.0150

Probability Density

0.0025 A

0.0000

Probability Density

0.004 A

© o o o
o o o o
o o o o
N > )] [e0]

0.0125 A

0.0100 A

0.0075 A

0.0050 A

10nM HI®®+ zZn?**

513

T(s) =21.99 +3.24
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A T(s) =15.04 £ 0.26
‘ k = 6.73e+6 = 1.16e+5
‘ 3348 entries (8.1 %)
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S34

T(s) =10.40 = 0.27
k =9.73e+6 + 2.48e+5
1539 entries (3.7 %)
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S54

T(s) =5.55+0.20
k = 1.80e-1 + 6.44e-3
784 entries (1.9 %)
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T(s) = 8.81 + 3.30
5, 0.015 4 k=1.04e+9 + 3.89e+8
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S43
T(s)=7.45+0.19

k = 1.34e-1 * 3.36e-3
1597 entries (3.9 %)
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T(s) =4.76 £ 0.26

I k = 2.13e+7_i 1.16e+6
i 338 entries (0.82 %)
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S31

T (s) = 26.06 = 5.07
k = 3.84e-2 + 7.46e-3
i 24 entries (0.058 %)
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T(s) =6.25+0.23

1 k =1.62e+7 = 5.87e+5
I 761 entries (1.8 %)
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T(s) =9.16 = 0.50

k = 1.09e-1 + 5.92e-3
340 entries (0.82 %)

0 100200300400500600
Dwell time (frame)




